ECO 610 !
Fall 2016

Problem Set #7 KEY  The yearis 1989. Catfish farming has been a thriving industry for several
decades in the southeastern United States. The industry is currently in long-run
equilibrium. The market price of catfish is $1.00 per pound. 3 million pounds of catfish
are produced each year. A typical catfish farmer produces 20,000 pounds of catfish per

year.
5 Spts a) Ilustrate this initial sitvation in the diagrams below:
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jopts b) The removal of alligators from the endangered spcciés list canses many
individuals ta start raising ailigators. A glut of alligator meat on the market
causes the market demand for catfish to decline, since many recipes in southern

cookbooks call for the use of either catfish or alligator meat. Now for your
analysis:

s What will happen to the price of catfish in the short run?
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¢ What will the short-run profit outlook be for catfish farmers?
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e Tive years from now, will there be more, the same number, or fewer catfish

»  What will the profit outlook be for catfish farmers who are in the industry
five years from now?

o 'Will the price of catfish be equal to, higher than, or lower than $1.00 per
pound five years from now?
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